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1. tmet ... Furopean yesterday. (Use Determiner)
(A) A
(B) An
(C) The
(D) Much
2. He distributed the toffees .....__. all the children. (Use Preposition)

(A) Between
(B} Among
(C) At
(D) Beside
3. My grandmother .......... tell me stories in my childhood. (Use Modals)
(A) V';/'ill
(B) Need
(C) Used to
(D) Can

4. T watched the car ............. in the darkness. (Usc Non-Finite Verb)

(A) Disappear

(B) To Disappear

(C) Disappeared

(D) Disappearing

the problem?\(Use Past Simple Tense)
{A) Do you solve

(B) Will you solve

(C).Did you splved

{D) Did you solve
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(B) Invincible
(C) Looser
(D) Inept
7. “Narrow Escape” (Gwe the Meaning of‘ Idiom)
(A) Avoid Somebody
(B} Avoid Danger and Diﬁiculty‘
(C) A Narrow Passage '
(D) Broad Minded
. you help me, I cannot finish thic . (Use Conjuetion)
AALH
(B) Tin _
{C) Becaiise

D%Unjess
9.CWho was the assistant of SherIock Holmes in the story “THE DYING DETECTIVE™>? |
(A) Mrs. Hudson
(B) Morton
(C) Watson
(D) Smith ,
10, Who has written the chapter “Bed No. 29”7
(A) b’Héx_lry
(B) R.K. N}arayaq
(C) Tariq Rehman
~ (D) Leo Tolstoy
11. The blind man in the story ““One Thousand Dollars® was selling ........... on the walkside,
(A) Notebooks ' o
(B) Toys
(C) Pens )
(D) Pencils
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12. In “Half A Rupee Worth™ the shop of Subbiah was _
(A) Stuffy and dark
(B) Very neat and clean
(C) Bright and ¢olourfy)
" (D) None of these
13. All around the world was ﬁl_)_]a_@. {Give antonym of underlined .word)
(A) Lighted ‘
(B) Burning
(C) Flaming
(D) Dark
14. Who has written the poem *‘Death the Leveller”?

_(A) James Shirley
(B) Sir Henry Wotton
(C) Sir Henry Newbolt
(D) Rabindranath Tagore

15. Chapter “The Makifig of the Eatth’’ is.written by_ yreo Ml o

(A) Dr. 8.W. Pennycuick
(B) Notman Vincent Peale

_(CYy IL. Nehru

(D) A.G. Gardiner

16. In the story “The Happy Prince” the poor seamstress was given the

(A) Gold
(B) Sapphire
(C) Ruby

(D) Diamond

.............

by the swallow.
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1 7. ln thﬁ chaptcr ‘IGA G- .
dollars i 2 weel. ift for Christmas” Mr. James Dillingham Young earns, just .....coreoeee.

(A) 20
(B) 19
{(C) 18
(D} 21

18. What aspect of R.N. Tagore .is reflected in his poem * Where the Mind is-Without-Fear”7
(A) Imperialist
(B) Patriotic
(C) Seculari.s;-
(D) None of these

19. Sir Pertab Singh lived in .......... house.
(AJ_ Red-rose
(B) Pink-rose
(C) Rose-red

(D) None of these
20. His interview will be held ........... Mohday, 30th October. (Use Preposition)

(A) By
(B) On
(C) After

(D) From
217 (Choose Correct Present Perfect Contauots Tense)

{A) I have been living in this house since 2002

(B). 1 am living in this house since 2002

gen living in this house since 2002

farine in thie house of 2002
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22. Wulk fast lest you s miss the bug, [Us;c Modals)
(A) Oughi 19 ) )
(B) May
{'C:J Can
(D) Should
23..‘-1:'2]1 take than five minutes to 8¢t ready. (Use Determiner)
(A) Many
(B) Much
{CY Iess

{D) The few
Read the passage given below and answer the following questions (24-30)

g’:;sgnzgl?izio‘:fiz;?n:;;i:;} E}Z\: K:Eet“e‘nlmn{bn?r §ipp%11g_ tea ‘to k'.ccp.yoursctlf awake whivla

_ : ¢ are a few varieties of tea, which de just the opposite
as these_have a calming and sleep-inducing effect. Here’s a look at the many varietics of tea people
are waking up to. Matcha isithe purest ftm of gfeen tea with high nutritional content. Herbal tea
gets a facelift. It tastes spicy. flowery or-fruity. The'eaffeiné-frec herbal concoctions are created
with aromatic flowers, fruits and premiumvherbss Herbs like ashwdigaridha) tulsi, brahmi and ginseng
are used to infuse their flavours in the (ca. Several blends are created mixing finest of Darjecting ard
Assam tea with chamomile, jasmine, honey, lemon, basil, vanilla, mangoes and berries among,
others. Another trend in the market is the infused tea coolers. These are like flavoured water with 2
hint of tea and fruity or spicy flavours to hydrate and refresh. The idea is to keep v sachet of green
tea infused or blended with fruits or spices into a jar of water and ice added. The flavours and
antioxidants released slowly make it a mild tea that is tastier than just plain water. Slowly and
steadily, these new-age brews are finding their feet in the Indian market. The demand for tea ‘_nas
been expanding across India with tea rooms that have stylish sophisticated settings to vibrant quirky
ones. These tea joint have bridged the gap between home and street. Most high-end brands also

have kiosks and lounges that offer a leisurely cuppa or tea on the go.
24, Which variety of tea is not discussed in the above passage?

(A) Infused Tea

(B) Bubble Tea

(C) Herbal Tea

(D) Matcha Tea
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25,

26.

27.

28.

29,

30.

Matcha is the purest form of .
(A) Black Teq

(B) Lemon Tea

(C) Green Tea

(D) Coffee

Herba].tea does not taste ..., .
(A) Swleet

(B) Spicy

(C) Fruity

(D) Flowery

An infused tea cooler js not ........
(A) Flavored Water

(B) To keep you Hydrated and Fresh

(C) Served Iced
(D) Added with Milk

These new-age brews are not beinglserved .\ . .
(A) In Kiosks and Lounges

(B) In Temples

(C} On the Go

{D) In Stylish Tea Rooms
Choose the statement which is false according to the above passage.

(A) Herbal tea has high concentration of caffeine

(B) Most of India wakes upto tea.
(C) The new stylish and sophisticated tea joints have bridged the gap between home and strest,

(D) The new-age brews are finding their feet in the Indian market, -

Which herbs are used to infuse flavors in the herbal tea?

(A) Ashwagandha
(B) Tulsi

(C)-W\&nd ginseng

(D) Al the ghave .
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All

MATHEMATICS (arfe=y

questions are compulsory. Kach question carries one mark,

W3 YIE Wt 95 1 9 yme e o i 3
31. The value of x if §, x,__l_‘z are in AP,
(A} 6 o (B) 8
(€C) 13 _ D) 1~
LT 5, x, 17 AP fou 95 I x o7 15 Tarr <
(A) 6 (B) 8
(C) 13 (D) 11
32. The roots of the quadratic equation 2x2 + x — § = 0 are
(A) -2, 3 (\@f—z 3/2 d
(C) =2, 172 (fi} Mdhebt tHegd
far < urat milags 232+ x » 6'= 0 Shar free- g=gitsr -
(A)-2,3 (By -2,3722
(C) -2, 172 (D) fevst fed* avt ot
33. In what ratic does the points (—4, 6) divide the line segment joining the points A (-6, 10)
and B (3, -8)?
(A) 1.7 (B) 1:6
(C) 2:5 D)y 2:7

fie (4, 6) fox 5y fam @ g fT A6, 10) "3 (3, -8) 75 & fam »ipurz fos
ggar?
(A) 1.7

) v_(_C) 25

By 16
Dy 27
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34.

35.

36.

37.

If the LCM of ‘" and 18 is 36 and the HCF of ‘Ia’ and 18 is 2 then *a" =

(A) 2 (B) 3

{C) 4 : (D) 1

AT ‘o’ MT 18 9T s.ﬁ.%'. 6T HAR. 2d 3 ¢ @ H & T=ar-

(‘A) 2 (B) 3 |

©4 @) 1.

If the sum of the zeros of the polynomial f (x) = kx? + 4x + 4 is 4 then the val_ue of k-
Y(A) 1 (B) -1

(C) 4 ' D) 0

. ﬁq_?fagu?f(x)=h?+4x+4égﬁ+@ﬁ34§ra+k?ﬁﬁéw—

(A1 s (B) ~I )
(C) 4 (D 0

If the arithmetic mean of x, x + 3, x + 6, x + 9and x + 12 is 10 then x -

(A) 1 (B) 2

(C) 6 (D) 4

AGTx, x +3,5+6,x+ 93 x+ 2T HITE 10T g x & U I=ar -

(A) 1 (B) 2

(©) 6 (D) 4

If the system of the equations kx — Sy = 2, 6x + 2y = 7 has no solution then k =

A) -10 (B) -5

(C) -15 «{D) -6
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34.

If the LCM of *4* and 18 is 36 and the HCF of ‘¢’ and 18 is 2 then ‘o’ =

(A)2 (B) 3
(C) 4 . (D) 1

AT @ MIT 18T HFAZ.I6IHAT. 23 I ¢ T WS J=am-
(a)2 B 3

©4 ™1

35. If the sum of the zeros of the polynomial £ (x) = kx> + 4x + 4 is 4 then the value of k -

36.

37.

(A1 (B) -1

(C) 4 ' (D) 0

. VYT HIUT f(x) = ko2 + dx + 4 S UBT T AF 4T IT AT S I -

(Ay1 - 4 (B} =1
(C) 4 (D 0

If the arithmetic mean of x, x + 3, x + 6, x + 9 and x + 12 is 10 then x —
(A) 1 (B) 2

(C) 6 (D) 4

HETx x+3,x+6,x+9MT x+ 12T HWS 10T 3T x T HS J<ar -

(A1 (B) 2
(C) 6 (D) 4

If the system of the equations kx - 3y =2, éx + 2y = 7 has no solution then k =
(A) -—10 (B) -5

{C) -15 (D) l__ﬁ
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k& 0T WS S Tetnr T FEt g '

W& S fo' S Tetnr miftergesr wr LT IS 2t Fagr kidy =2, 6xt2y T H
(A) 10 (B} -5 -
{C) -15 (D) -6

(A) 1/3 (B) 3/7
(€) 12 o 1/6
“MOBILE” & »ydt €9 rew uivg mr@e ot fgresT 3231 -
(A) 1/3 By 37
A(C) 12 (D) 1/6

39. Find the length of the are that subtends on angle of 30° at the centre of a circle of radius 4 om?
(A) n/3 VLB 2778
(C) n/6 ARk T
a‘?ae”rwe’rﬁaﬁaﬁéaﬁﬁﬂ?é'@aéé; 30° T W Wy feH 4 em T |
(A} n/3 (B) 2xn/5

(C) n/6 (D) 2n/3.

40. If @ and b are positive numbers then HCF (g, b) x LCM (4, By=7

) a % b B a+b
(C)a-b D) alb

HaTq a3 b waTavar Afinret 3 IHCE (4 5) x LOM (g, ) = 9
(A)axb (B) a+b

(©) a-b - D) alb
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,4 1. If P_(E) = 0,0374nsi® (not E) =

| " (A) =005 B o

{C) 0.9 (D) 0.95

F P(E) =0.05 J 3, P (not E) I3 -

(A) -0.05 (B) 0.5
ATY0.9° (D) 0.95
@2, 2 tan 3071 + tan?30°%
(A) sin 60° (B) cos 60°
(C) tan 60° (D} cot 60°
2 tan 30°/1 + tan?30° =
. (A) sin 60° (B) cos 60°
| (C‘) ¥an 60° (D) cot 60°

A tangent PQ at a point’P of a circle of radius 5 cm meets a liné through the centre O at a

43' point Q, so that 0Q = 12-¢m then the lengthof PQ 15
(A) 12 cm .(B} 13 cm
(C) 8.5 em (D) 1119
scmmmeﬁmﬁﬁgpffa‘amwquﬁﬁﬁﬁﬁméa@ao
é‘ﬁ%mwﬂéﬁgo,éﬁmﬁﬁn@oq=12cmi:‘ra'rpqﬁéarr—
(A) 12 cm (B) 13 cm
(C) 8.5 ¢cm @) 1119

44. Two equal circles touch each other externally at C and AB is a common tangent to the

circles. Then, ZACB =

{A) 60° (B) 45°

(C) 30° (D) 90°
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?mmhf?ﬁfw{?ﬁmﬁmffﬂmfﬁgcémmﬂaaﬁmw@A'E
¥ A gl §4T § I ZACB =

(A) 60° (B) 45°
(©30° (D) 90°

45. 4 sec?8 — 4tan?6=97
4

(A) 1 (B} 0

(C) 2 (D) 4

4 sec?@ — dtan’Q =7

(A) 1 (B) 0
(D) 4

(C) 2
If2x — 3y =7and (a + b) x — (¢ + b — 3) vy = 4a + b represent coincident lincs, then a

46,
and & satisfy the equation
(A) a+5b=0 (B) 5a+ b0
(Cya-56=10 (D) 5a-56=10

ﬁaa'zx—3y=7m§(a+b)x-(a+b_3)y:4a+bww333+awbf?m

mioaas € 7% d=ar |

(A)a+5b=0 (B} Sa+5=0
(Cra-5=0 (D) 5a—-h=0
47. Which of the following cannot be the probability of occurrence of an event?
(A) 0.2 (B) 0.4
(C) 0.8 D) 1.6
o fafiprt f2F faust fog weaT ot AgresT &4t J Aat 7
(A) 0.2 (B) 0.4
(C) 0.8 (D) 1.6
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ARG ;
TR F 3t Lack %mﬁ?cémﬁm
(A) 6oe R -
(©) 300 (B} 45°
45, 4 seclg Htang = @) 90

{A) 1

© 5 {B) 0

4 sec?d — 4tan20 = o o

41 ®) 0
(€2 (D) 4

46. If2x -3y = 7 ang {a+be—(

X g+ b - =
and 5 Satisy the oqua g 3)¥=4a+ b represent ceincident lines, then 4

(A)a+5b=10

{(BY Sa+b'20
(C)a=5b=0 '

M) Sa 5%}

A =
(A)a+5h=0 (B) 5a+p=0
C —_— -_—

QO a~56=0 D) Sa-b=0p

47. i '
Which of the following cannot be the probability of occurrence of an event?

(A) 0.2 (B) 0.4
(C) 0.8 (D) 1.6
%Wﬁ#ﬁvﬁﬁ%wﬁwmﬁmﬁ?
(A) 0.2 (B) 0.4
(C) 0.8 (D) 1.6
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48. Which of the following cannot be determined graphically?

(A) Mean (B) Median
| (C) Mode (D) None of these
W%‘u’ﬁmﬁnﬁﬁf@ﬁaﬁaﬁWWW?
' W foar
(A) HOH'S B) |
(C) JTHA o fegat fed et ?ra’t

. irrational?
49. Which of the following number is irrational?

(A) 537 (B) 0.123
(©) 1/5 (D) /2
Wmhﬁﬁh}mwﬁﬁﬂﬁfwmﬁ?

(A) 537 (B) 0.123
(C) 1/5 Oy (AL

1,1
- —_— + X
50. If cc and § are zeros of the quadratic polynomial S§y% — Ty + 1 then the value of o R

-(A)S' B) 7

(C) 6 (D) 1/5

| - e I S WP
Fom3 p o UF EEE 57 - Ty + | Tt et T8 I T g e HE IS
(A5 (B) 7
() 6 D) 1/5

51, The distance of the point (4, 7) from the y-axis is

a4 ®) 7
©u D) 65
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Bz (.7 &y 33 5 ot vt 2t -

(A) 4 (8) 7

©n D) V53
52, In AABC, PQIBC, find the value of x". (Fig. 1}

(A)28cm {B) 3.6cm

(C) 2.6 cm (D) 22¢em

AABC & PQIBC I 37 x Tr vm T - (Fig. 1)

(A) 28cm (B} 3.6 cm
(€) 2.6 em ' (D) 22 ¢m
53. Tenth term of an A.P. -31, —I—, 1.3 .
2 2 2 » 2 .......... 15
15
&)~ (B) L
© BB
31 _1 _3 o
AP2’2’ B Ty e <7 1027 Y2 g=gr -
15
-2 14
#) =3 (B) 5
13 13
© 3 (D) -

54, The sum and product of the quadratic equation 3x? ~4\3x+4=0 are respectively

A (4\/" ;IJ - ( 443 _%J
(C) -3, 4 | ) (—i‘i %J

-
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T wrS mitaas 3x? —a3x+4=0 3 fTeat o TEEE WS aEaEE @E

LI

43 4 . _i\fj“ 4

«w (4 ® (-3 -4
a3 4

(C) -4~/3,4 (D) [— 3 ,3]

e

55. Ifthe diameter of hemi sphere is 14 ¢m then total surface area of hemi sphere is

{A) 147n (B) 137n
(C) 98&n (D) 49=
9T MIY STF T FONTH 14 em T IF O € IF AT €7 4I06H I -
(A) 147n (B) 137m
(C) 98n (D) 49n

56. sec A (1 — sin A) (sec A'htanA) =7
(A 0 (B) 2
(C) 1 (D) 3

sec A (1 —sin A) (sec A +tan A) =7

(A) 0 (B) 2
1 (D) 3
57. The volume of two spheres are in the ratio 64:27 the ratio of their surface areas is
(A) 1:2 (B) 23
(C) %:16 (D)' 16:9
3 Jifgnit © WTess O Houd 64:27 3= 3+ €& T KT € YIgeBT T MFUF T
(A) 122 (B) 2:3
(©) o6 (D) 16:9
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58.

59,

60.

Check website : www.meritorious.successadda.in for more updates , content & preparation of exam

Volume of cone =

(A) %’“‘ i B) mrh
(©) 3w | ©) n
AT o nifegs =

(A) %mzhz (B) mrih
(C5 %T‘fz*” (D) %nﬁ

If in AABC, AC” = AB? + BC? then which angle of AABC will be right angie?

(A) ZA (B) £B

(C) £C (D) None of these

HaTd AABC, fe9. AC? = AB2 4 B2 ge 37 faua’ d< AHa < d=drr ?
(B} /B

(A) ZA
(D) feast fed d€F 471!

(C) £C

I+tanA .
—_— ual to
1+cotA 18 ¢4

(A) Sec A (B) -1

(C) Cot A (D) TanA

[+tanA _
I+cotA

(A) Sec A (B) -1

) Cot A (D) TanA




al.

62.

63.

‘64.

i i .
he angle of the sun is at 60%, then the heipht of the verticnl tower that will east «
shadow of length 30 m is

(33 15

(A) 303

(C} 30/+3m (D) 15v2m

@nmma@_@ﬁﬁﬁéaﬁﬁmﬁmﬁwmmﬁégmwrw
famm & 60° IF |

(A) 303m (B) 15m

{C) 36/3m (M 1542m

The minute hand of a clock is l4em long. The area swept by it in 3 minutcs

(A) 154 em? (B) 154/3 em?

(C) 77/3 am? (D) 308/3 cm?

F fitet =t yot o HwE 4em T 3T G0 5 et few fdw doees uEaty
{(A) 154 cm? (B) g1 5473 som
(C) 77/3 cm? (D3 130875 om?

Distance between the points {2, 3) and (4, 1) is
B) 2
€} 242 (D) s5v2
fiem (2, 3) M3 (4, 1) fegamg gat G<ait|

® v

(A) 342

(A) 342

(€) 242 D) 5v2

The nth term of the AP 5, 11, 17, 23......... 15
(A St (B) 6n-1
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AP 5. 11,17, 23 @ nt ye J&ar -
(A) sn-l (B) 6n-1
(C) 5n+1 (D) 6n+1
65. —4 is the zero of the polynomial f(x) = x2 - x — (2k + 2, then the value of & is
(A) 0 (B) 8
(C) 9 | ' (D) 1
FET FIUT F(x) = x2 —x - (2k+2) € fRT 4 32 FT £ T W& T -
(A) Q {B) %

(C) 9 (DY 1
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SCIENCY ¢ Farfermne;)

All quent
tMIN npre ¢ ' TR
¢ eompuliory, Do, el corviey gy marl
A& YRE Rt T2 SRR YRE 0 e i |

66, Goilre 1s cnnsed due (o the deliciency of

(A) Caleinng

(18 Potamaing,

(') Todine

(133 L
flys .. O et &y e
(A} BRI () Yenibmy
(L) mfeGats (D) wrfeas

67, Magnetic field lines can

(A) Intersect cach other ui 45¢ (1% lnlcrscuti'cuuh other at 30°
H{C) Flilnnol intepsect cagh giher (J2y Nong of these
A) FEaga §ase Taedwmas @) o gw § 300 3 gzet ow
(C) fea gn § aat aeat (D) feust foF &= =1 541

68 2FeS04 —-> Fep 05 + S0, + 80,
The alove rcallion i amexampteof

(A) Combination reaction (B} Displacement reaction
(;}Decomposition reaction (D) Double displacement reaction
2FeS04 —— Fe303 + S0, + 80,
Quiag arfefea fafonr fe'g Gerawe )
®) femaus fafon
©) €vst femaus fafanr
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9, The iy pores on the surlace of leaf gre called

70.

71.

{A) Lenticels
{B) Vacuoles
(C) Xylem
(D) Stomata

ﬁﬁm%%éﬁﬁ%ﬁ,ﬁmw 51

A) FHE

(B) TRUTEDHT
C) %
(C) Tz Oy w5

The phenomenon of electromagnetic induction is —
(A) The process of charging a body
(B) The pracess of generating magnetic field due to current passing through a coil

(C) Producing induced current in a coil due to relative motion between a magnet and the coit
(D} The process of rotating a coil of an electric motor

foes—gadt do= ot URST

(A) fat =iz & 9w ges ot ufafie 7

)mm?ﬁmﬁwuﬁaﬁemmm@mmﬁ
ln%fﬁmrra

(€) IB8 v ¥Ea & 29 mrifug orat € aas g0 iy ifss faasdt T Uev
HIET

(D) T fawset ieg <f daat § e & yfafenr §

Silver chloride turns in which colour in the presence of sunlight ?

TA) Red (B) Grey

(C) Green (D) Blue
Wwwﬁmmmmmmﬁwﬁ?
(A) B'E ® § &

'EC) g D) Bi°
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72.

73.

74.

Check website : www.meritorious.successadda.in for more updates , content & preparation of exam

The longest fibre on the cell body of a newron is called........ .

(A) Sheath {(B) Cytoplasm
(C) Axon . (DY Dendrites

few faQes © e ndle 3 e 3 &9 oveteg four wer 3 -

A 7=t B) AEIUBTTH
(C) HIAATS (D) Fsode

Which of the following statement is true about electric moter?

(A) An clectric motor produces electric current

(B) It converts mechanical energy 10 electrical energy
(C) It converts electrical energy to mechanical energy
(D) All of these

S fafimr fes famwet Hed wet J3=,378 ot 97

(A) mewaﬁa

®) hﬂﬁﬁmmﬁ@wﬂaﬁsﬁ@aﬂfﬁﬁuﬁﬂmm§
(®) faﬂsﬁﬁzafaﬂﬁfr@awamafﬁ@wfeﬁufaﬂmaaﬁa
@) Frg ot At TS
What is the pH of blood?
(A) 6.0 (B) 6.5
(C) 7.3 (D) 7.0
y& < pH g W R
(A) 6.0 (B) 63
(D) 7.9
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75.
(A) 2 ®s
(C) 1 (D) 4
H@@W@%ﬁ?ﬁ@%ﬁﬁ%ﬂﬁﬁﬁ*

(A) 2 (B) 3 |
(C) 1 (D} 4

LY

26, Whic T
b of the following terms does not represent electrical power in a circuit?

(A) PR (B) IR?
(€) Vi (D) VUR

(A) PR (B) IR?

(C) VI (P viR

77. Which acid is present in tomato?

{A) Tartric acid (B) Citric acid
(C) Lactic acid (D) Ethanoic acid
eWreg v ige 391 e &t ¥A?

(A) ederfad 3A
() Fafea 399

78. A blood vessel which pumps

®) frefoar 3w
o) fedsfes 3u™

the oxygenated blood from the heart to the entire body is

(B) Capillary

(A) Artery
(D) Haemoglobin

- (©) Vein

Check website : www.meritorious.successadda.in for more updates , content & preparation of exam
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79. A ser of resistors Ry and Ry are connected in series has an equivadent resizance Rs viven by

(C) Ry = Ry* + Ro? (D} R,=Ry~* R,
éueﬂﬁu"rR.mﬁjo@a‘uﬁaxéWwﬁuﬁ%uRstﬁﬁmh

(A) R. = Ry — Ra (B) VR = VR + 1R

(C) R, = Ry + Ry? (M R, =Ry~ Ry

80. Complete the following reaction :

Zn ¥ CuSOyy—> ... + Cu

(A) ZnO (B) Cu0
(C) ZnSOy (D). ZnS
5 fodt mitgas & U™ 9 -

Zn + Cu80y —— ..... + Cu

(A) Zn0O (By CuO
(C) ZnSOy4 (D) ZnS

81. What is the power of concave lens of focal length 2 meter?

(A) 0.5 D (B) 5D

(C)4D (D) 1.5D .

zmmeﬁﬂmﬁiﬁﬁﬂaﬁﬁl

(A) 0.5 D (B) 5D

©4D M) 1.5D

Check website : www.meritorious.successadda.in for more updates , content & preparation of exam




N Y

82. YCHy + X005 —— XH;_Q) + YCO,,
In above reaction find the valye of X and Y.

A 1,1 _ (B) 1,2
(2.2 W) 2,1
YCH; + XO; — XH,0 + YCO; |
QIS Mritawe 99 X o3 Y = e |

. (A) 1, 1 B 1,2
(C) 2,2 Dy 2,1

83. A plant hormone which is synthesised at the shoot tip helps the cells to grow longer.

(A) Gibberellin (B) Auxin
R (© crokini (D) Absciscic acid
fe'w fler aroii & T et & Prfowt few mwfame dor 3 w3 et § e few w0
535 few Aufed g=r J1 :
(A) fRadfss B), WHiRs
~(C) AEteafelas ) REHing SE

-
-

84, Danger signals are red in colour because :

(A) Red do not get scattered (B) Red is most scattered

(C) Red is least scattered (D) None of these

¥ & frates & & & 2 U5 fagfa — |
() 5% o fiwaer aat ®) & §a <y fiseer d

(¢ ot i fier 3 ©) feaat fe¥ & =

85, When some drops of phenolphthaiein is added in NaOH solution then the colour
solution becomes

(B) Blue

(A) Red
‘(D) Pink

(C‘) Orange

Check website : www.meritorious.successadda.in for more updates , content & preparation of exam




galala'léﬁﬂmmﬁﬁ?gﬁmoriW@WWE#@;@TW

w a8 ® &t
() et (D) Fr&THt
86. Which of the following is nﬁtfu;t_:ipdegraduple?
{(A) Wool (B) Tea leaves
(C) Animal benes (D-)—_r-t])il?n
3o fsfimt fo 3 fauar HizuREHS 37
A €% (B) ST T YT
(C) AF TP D) BEES
87. What is the speed of light in vacuum?

G
(A) 3 x 108 m/s (B) 3.x 101 m/s

10
(C) 2 x 108 m/s (D3 26 1018 m/s

m@gﬁevua'rsrwéarﬁarij?%?

10
(A) 3 x 108 m/s (B) 3 x 101° m/s

(C) 2 x 108 m/s (D) 2 x 109 mfs

88. The number of/periodssand groups are present in modern periodic table.

(A) 7,18 (B) 18,7
(C) 6, 18 (D) 6,8
WWM%%&EL&WWWW?
(A).7, 18 (B) 18,7

| (C) 6,18 (D) 6, 8

Check website : www.meritorious.successadda.in for more updates , content & preparation of exam
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92,

(&) fugedt dEt

The process where characteristics are transmitied (rom parent to olfspring s called

(A} Variation (B) Heredity

(C) Gene (D) Trait
Qo fafemt” Fr 6 qre wifiont 3 s  feait ik wnem 32 95, § fo e 31

(4) feagre (B) nig=faa=r
| —
(C) i o BE=E

Which type of the lens always forms a virtual image?

{A) Concave lens (B) Convex lens

(D} WNone of these

(C) Both
(&) mmm ©) 5 &aT
©) &= () "feus T Aet 5T |

Which gland secretes the growth hormone?

(A) Pituitary gland (B) Thyroid gland

(C) Hypothalamus (D) Adrenal gland

frost et e gres EFE 31
@) wrfegrfes St

(C) TETEBHA D) *#H}Es JE

A wire of given material having length L and area of cross section A has resistance of 8Q. What

would be the resistance of wire if length becomes L/2 and area of cross section becomes 2A?
(A) 12 (B) 222
(C) 3 (D) 4Q

Check website : www.meritorious.successadda.in for more updates , content & preparation of exam
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94,

925,

- () mirfefar g
| © ymf’rw

8Q YT & faiy g9 ot ufoge are w Guues A T wd SEE LT due ylsige o€
T UYOEH 2A wo gt W v Sut L2 5T ot A @ 9 ¥ 5y o aresT

T Jwit?

(A) 1Q (B) 20

(C) 3Q (D) 40

The self-linkage property (catenation} is maximum in

(A) Carbon {B) Silicen

(C) Sulphur (D} Phosphorous
WU WY FE gEE (AEEHa) € maw faw R JT 3°
(A) TTTEE ® frelEs

(C) ABsd (D) STHEIH

The substance which is chiefly responsible for depletion of ozone layer is

(A) CFCs (Chlorofliorocarbons) (B) Methane

(D) Ny ANitragemn)

(C) DDT |
@Umﬁﬁﬁﬁmﬁﬁmﬁﬁﬁﬁﬁé‘ﬁ{ﬁ?ﬁﬁl
(A) THISHITIIOH B) HEs

(©) statet. (D) &Eledrs

The change in focal length of an eye lens is caused by the action of :

(A) lris (B) Ciliary muscles
(C) Pupil (D} Retina

mmﬁmgﬁﬁvuﬁmmq@&—
@®) frstust Ut e

D) dfeat gnrar

Check website : www.meritorious.successadda.in for more updates , content & preparation of exam
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97.

98.

M€z + 4HC — > MnCly + 2H,0 + Cly
/{dcmij‘y the substance oxidised in above equation.
(A) MnCl, " (B) HCI
(C) H20 (D) MnO,
MnO; + 4HCl —— MnCl, + 21?20_ + Cly
Quias wfefaw faforr fes wraftaas Jet =wg &t uars oF -
{A) MnCl, (By HCI

(&3 H,0 (D) MnO,

A cross between a Tall pea plant (TT) and a Shert pea plant {ti} resuited in progenies

that were all tall plants because :
(A) Tallness is the recessive trait
(B) Shortness is the daminant trait

(C) Height of pea'plant 18 not governed by gene T ‘ort

(D) Tallness is the dominant-irait
ﬁﬁm@'ﬂ@(TT)b@ﬁ%ﬁm(tt)@ﬁ%%ﬁwﬁfﬁﬁmg?ﬁﬁﬁ
= feg A Ifow fa 7rd &% (e As fagfa -

(A) SuTEt wyF=t 38T J

®) Fous et BeT I

(©) Hea @ I & Qureh s Tt (e ftisfes AT it W
) Sty BET T |

On passing through prism, which colour of white light bends the 1}east?

(A) Red (B) Green
(C) Orange (D} Violet

Check website : www.meritorious.successadda.in for more updates , content & preparation of exam
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9. An ato i
9. An atom of an cle as elec ;
. . o LIF.I'I".[CI][ has electronic configuration 2 8. 2. To which of H
would it be chcn“ca]f}, similar? = £ 8 L 10w ten of followin: By

(A) Al13) (B) Na(11y
(C) Cac20) (I S(16)

JET 37 @ uave o A

g";%ijr%L fswa?ﬁaamz,s,zaﬁa fea fam 397 2 @ s
(A) Al(13) (B) Na(11)

{(C) Ca(20) (D) S(1sy

100. The breakdown of Pyruvate 1o give carbon dioxide. water and encrgy takes place in

{A) Mitochondria {B) Cytoplasm

(C) Chioroplast (D1 Nugleus

yfegee ¥ fodss &8 Fogs FEmianels, el »id §ont o& o ySiafanr enugat
&

m) Heleasgahy (€9
T asausme fe

(B) AEtcumYH fe9
D) f=Qaamiy fey

Check website : www.meritorious.successadda.in for more updates , content & preparation of exam




